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Lab 5. Simulating | discrete random variables sgr. 3
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Homework: Monty Hall problem ( )
exira: assignments|1/and|2[from lab4.pdf (Monte Carlo method and Buffonneedie)| | gy, ¥
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H: AT and 2 from|lab4 .pdf
(Monty | Carlo |methad and
Buffon needle)
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momeworkK: assignments [1 and 2 from lab4.padf (Monte Carlo method and the Buffon needle)
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Homework: assighments 1T and 2 from|1ab4 .pdf

(Monte Carlo method and the Buffon needie)
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Homework assignments [T and 2 from 1ab4.pdf [(Monte Carlo method and the Buffon/needie)
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sgr. 4

Hospital records show that of patients suffering from a certain disease, 75% die of it. What is the probability that of 10 randomly

selected patients, 4 will recover? What is the probability that at most 2 patients die? What is the average number of patients that
will die?
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Share/Knowledge

2. Consider an urn with 5 blue balls and 7 yellow balls. You select balls one by one with replacement until you extract a blue ball.
What is the probability that you need to extract 3 ball? What is the probability that you need to extract at least 2 balls?
What is the average number of balls extracted until you find a blue one?
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3. A pediatrician wishes to recruit 5 couples, each of whom Is expecting their first child, to participate in a new natural
childbirth regimen. Let p be the probability that a randomly selected couple agrees to participate. If p = 0.15, what is
the probability that 15 couples must be asked before 5 are found who agree to participate?
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hare Knowledge
S

l|._ At a call-center the average number of telephone calls in an hour is 15. What is the probability that in the next hour 7 phone tall
are answered? What is the probability that there are at most 5 in coming phone calls?
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Homework: A2/and|4 from|lab3.pdfland /A1 and 2 from lab4.pdf (the Monte Carlomethod and Buffon's needle)
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